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nazwa obiektu :
BUDOWA DROGI

LEŚNEJ NR 11
STANOWIĄCA DOJAZD

PRZECIWPOŻAROWY NR 6 W
LEŚNICTWIE TRZECHEL

     1-Ark1      08.2014

tytuł rysunku :
PROJEKT

ZAGOSPODAROWANIA
- PLAN SYTUACYJNY

DROG. 1:1000
branża :         skala :

data :             nr rysunku :

inwestor :

projektował :                nr upr :                  podpis :

sprawdził    :                nr upr :                  podpis :
Bogusław DĄBROWNY     ZAP/0162/PWOD/08

mgr inż.
Radosław Żarkiewicz

inż.

NADLEŚNICTWO NOWOGARD
ul. Radosława 4

72-200 Nowogard


